This chart will assist in order preparation and in the preparation of return equipment lists

/ for all Flex—=Form System components and associated components. When placing an order
S either by mail or by phone, please identify each component by its correct name and product
\/ code number. Should you have any questions about availability of a special product, please
®

contact your Symons Account Manager or Symons Distribution Center.

L IQI’O" L L
] 1 1 FLEX-FORM FILLERS
FLEX-FORM PANELS +4 Wt + am - P.C. | DESCRIPTION [WT, SOLDIER BEAMS
0 o CODE [ DESCRIPTION WT.
P.C. | DESCRIPTION WT. _ A 32136 | 2" x 2' FILLER | 18 oS¢
/] . o 32037 |3" x 2 FILLER | 22 38904 | 12'-0" SOLDIER BEAM | 212
) 32120 | 2'W x 4'L PANEL SECTION | 120 o < 0 20138 | 4" < 2 FILLER | 24 38902 |8'-0" SOLDIER BEAM | 148
d 32119 | 2'W x 8'L PANEL SECTION | 213 - _ | - Ndh 32139 [6" x 2' FILLER | 28 38901 | 4'-0" SOLDIER BEAM | 83
q C X Y
q 32118 | 2'W x 12'L PANEL SECTION | 327 - S § S f o | A8 oo o e 3 38917 |3'-0" SOLDIER BEAM | 68
X 1_pt
) 32101 |3'W x 4'L PANEL SECTION | 180 _' N Zx9 R > L 38903 | 2'-0" SOLDIER BEAM | 52
d LAk ™ Z S Ao 32041 | 2" x 3' FILLER  [30.! 38900 | I'-6" SOLDIER BEAM | 45
5 q 32102 | 3'W x 8'L PANEL SECTION | 314 soa Ol s 313 3" x 3' FILLER | 32 INSIDE ROLLED
() q | i X
2 Te 32103 | 3W x 12'L PANEL SECTION | 490 9 < iae = %_ N Bl it 0 RIB
<1 : 32104 4W x 4L PANEL SECTION | 238 : ° A3 32142 | 4" x 3 FILLER |354
° . q — ) 0 > 32143 | 6" x 3' FILLER |40.3 4'-0" RIB SHOWN HERE OUTSIDE ROLLED z >
T BENERE ] 22105 | W x 8L PANEL SECTION | 423 W Y 20 6' X 12' POUR DOOR PANEL o 32044 |8 x 3 FILLER |45 HOLE SPACING DIFFERS RIB W5
. ° o ° d 32106 | 4'W x 12'L PANEL SECTION | 650 TYPICAL VOID PANEL POUR DOOR P.C. 32117 of 1® 205 |2 < 4 FILLeR | 40 FOR EACH LENGTH RIB STRAIGHT RIB A\ ?T{ ) |
0 , ° . o ) 32107 | 5'W x 4'L PANEL SECTION | 297 ¥ PLYWOOD NOT INCLUDED WEIGHT: 1204 Lbs, o | 0 3032 |3 « 4' FILLER 5 o|| o\o | 0 o 0
5 : o ° d 32108 | 5'W x 8'L PANEL SECTION | 528 o > — of @°[ o) |°
° ° . N ) 32109 | 5'W x [2'L PANEL SECTION | 8l dk 32146 |4 x 4 FILLER _|46.7 of[oNo|of |o
\ SEENERL ( X FLEX-FORM VOID PANELS R 32147 |6 x 4 FILLER [52.9 of| Aolo |0
sle| o o . . 32010 [ 6'W x 4'L PAN ION | 367 0 ‘ j 0
Q Q Q : 7 32”1 le X :It gANEt :Ez$|gN 655 PC DESCR'PT'ON NT. s / Q 32]48 8" X 4I F”_LER 5q FLEX FORM RlBS 0 Q(Q 0> 0
E ° : ° 32”2 6'W - I2|L PANEL 5ECT|ON IOIQ 32”3 3IW X 4I|_ VOID PANEL 5ECT|ON ]2q V) AT, ) S\ AW W N N ﬂ]l 9 Q > 3214‘# 2" X 5| FILLER 50 PC DESCR'PT'ON NT Q (Q Q >° [/]
o (o ° Q © X = - I 1
. o : o 32114 | 3'W x &'L VOID PANEL SECTION | 2/4 o ] o 32133 |3" x 5' FILLER | 53 32121 | 4' STRAIGHT RIB a4 o | SNe|o 0
E SEREEE 32015 | 3'W x_I2'L VOID PANEL SECTION | 335 PIPE FORM ALIGNER of |° 32150 | 4' x 5' FILLER |56 32122 | &' STRAIGHT RIB 68 . SQ o
olo| | . ° pC. 3367 o 32051 |6" x 5' FILLER |65.5 32123 | 12' STRAIGHT RIB 102 : : : ° ;
° : ° 7 WEIGHT: 11l Lbs, 0 32052 | 8" x 5' FILLER |72.4 32124 | 4 INSIDE ROLLED RIB | 34 0 SQ ) ) )
n N Z TYPICAL FLEX-FORM PANEL 0 32153 | 2" x 6' FILLER  |60.| 32125 | 8' INSIDE ROLLED RIB | 68 o (Q ) >° )
o\ Q - Q Il |
X N 32034 |3" x 6' FILLER | 65 32126 | 12' INSIDE ROLLED RIB | 102 J| Nolo7 |0
4 WOOD DECKING 32054 | 4' x 6' FILLER 69.4 32127 | 4' OUTSIDE ROLLED RIB | 34 DI
~ BY OTHERS 32155 | 6" x 6' FILLER |78l 32126 | 8' OUTSIDE ROLLED RIB | 68 \ /
2T I I |
‘I oo TYPICAL FLEX-FORM FILLER (325 |8" x 6' FILLER [86.8 32129 | 12' OUTSIDE ROLLED RIB | 102
PUNCHED TO ALSO BOLT TO MAX-A-FORM®,
ZERTIC:L kIFTIhIlG CAPACITY AR STEEL-PLY® VERSIFORM®, ¢ CIRCULAR TYPICAL SOLDIER BEAM
T?:OC:PSACH.TY& SF, 3! GUARDRAIL POST STEEL COLUMN FORMS,
6000 Lbs, AT 2:I SF, 31 9 7 P.C. 3806 \
i . g\ WEIGHT: 14 Lbs, . GUARDRAIL—=
/ @ POST FLEX-FORM LADDERS
< 0 Q « P.C. | DESCRIPTION WT. N
S© I3 it
Z 0 RS Y e 35223 | 3' STEEL CCF LADDER | 40 . 5
o . A
I ) Py 35224 | 4' STEEL CCF LADDER | 48 \a/\ WALERS N | \/j(\
- 9 ~® 0 N d o|s v iR 35225 | 5' STEEL CCF LADDER | 57 P ) ; ] PC. IDESCRIPTION | WT ™ 0
‘Q N Za | b T !
N / / . 0 ol e & 35226 6. STEEL CCF LADDER | 69 A f ’ 33353 15" x o' WALER | 221 a N
TOP TIE/ PLATE WALER CONNECTOR PLYWOOD EXTENSION/ HORIZONTAL v Q D IRN ' ° 33352 | 5' x 10' WALER | 135
HIFT BRACKET P.C. 3273 CHANNEL ALIGNMENT BRACKET WALKWAY BRACKET \ ; ' o o 5 iR oo U
P.C. 32172 WEIGHT: 2.6 Lbs. P.C, 32074 P.C. 32175 WALKWAY BRACKET P.C. 39744 ® ° G, 0 21N 33348 5" x 6' WALER | 82 N Il
WEIGHT: 8.6 Lbs, WEIGHT: 7,0 Lbs. WEIGHT: 1.4 Lbs, P.C. 38062 WEIGHT: 27 Lbs. Q NN M N1 AR X N
WEIGHT: 25 Lbs, \ ~ ’p b [® ’ N, 33350 | 5" x 4 WALER | 55 N
b 0
0 , ’ NOTE: V/F WALERS REQUIRE %" LK ~
2 1 | " Q p . o FIT UP BOLTS/NUTS ,
I'-4 }{1 4 - >\$ N\ 0 N
O 0 & X K © ’ < o
3I| S U 9 o 9
@ :l’ F ﬂmy \ \ M 0 1 b NN
1l S
2 o % 2t
\ [ 5" WALER SPLICE
BZZZZZZJ - CHANNEL
\X L 7 LADDER CONNECTOR [ %' TIE HOLES REQUIRED _ P.C. 33354
3" OR 4 SPEED—/ O BRACKET PLASTIC PLUGS TYP'CAL VER5| FORM WEIGHT: 26 Lbs.

BOLT REQUIRED P.C, 3250 WALER
TIE BRACKET FLEX-FORM P.C. 32177
ANGLE TIE BEARING ANCHOR CLAMP M/F THRUST BOLT TOP BRACKET WEIGHT: 10 Lbs.
P.C. 3218l BRACKET ﬁDcAZ;?eR w;@cﬁ 3‘?35Lb P.C. 38716 TYPICAL TOOLS
WEIGHT: .64 Lbs. P.C. 3217l L. t 2.0 Lbs, WEIGHT: 15 Lbs,
WEIGHT: 251 Lbs. WEIGHT: 110 Lbs. TYPICAL HORIZONTAL JOINT FLEX-FORM LADDER APPLICATION 44" SPUD WRENCH W/DRIFT HANDLE - FOR

3
P.C. | WT. DESCRIPTION 74 SPEED BOLTS

32191 | 050 |3/4" X 2" LONG SPEED BOLT
32195 | 0.58 |3/4" X 3" LONG SPEED BOLT

[-%," DEEP SOCKETS (6 OR 12 PT X %" DR,
MIN.) -% SPEED BOLTS

TN\ 3294 | 065 | 3/4" X 4" LONG SPEED BOLT HZB") DE?&:OI"CZEI;D(E QROBROIESPT X %' DR,
9|« P.C. | DESCRIPTION WT. 919 RATCHET-%" DRIVE MINIMUM
P.C. | DESCRIPTION WT, CONTOUR THREAD 3/4" SPEED NUT

: 38552| 2' M/F FILLER ANGLE | ® K 36252 2 M/F OUTSIDE CORNER | 14 SOk TAPER TIE NNER INIT P.C. 32193 12" SOCKET EXTENSION - (%' DR. MN.)

ol 38553 | 3' M/F FILLER ANGLE | I 2| a . P.C. | DESCRIPTION WT.
38554| 4 M/F FILLER ANGLE | 15 925313 TVF CUTSIDE CORNER | 22 50K BATTERED 2-%' OPEN END WRENCH - FOR I-)4" SCREW

° 0 ® 38254 4| M/F OUTS'DE CORNER Qq 3]526 35" 50K TAPER TlE l I/4H - I" IO PLATE CAST'NG JACKS AND I_yQII THRU BOLTS
ol 38555 5' M/F FILLER ANGLE | 19 2o 38255| 5' M/F OUTSIDE CORNER | 36 31627 | 45" 50K TAPER TIE [ /4" - I' | 13 Sc 3 " "

“ 3655616 MM/F FILLER ANGLE | 23 216 38256 ' M/F OUTSIDE CORNER | 43 31528 | 55" 50K TAPER TIE | I/4' - I | 16 WEIGHT: 35 Lbs, 36 OPEN END WRENCH — FOR 2 SCREW

38558 | 8' M/F FILLER ANGLE | 3| 38257| 7' M/F OUTSIDE CORNER | 50 20" 50K SHE-BOLT

o 2|9 38258 | 8' M/F OUTSIDE CORNER | 58 7/8" ' [ 174" 18" ADJUSTABLE WRENCH

. 0|0 . P.C. 30529 o Y

38260| 10' M/F OUTSIDE CORNER| 72 ' NS HE ABOVE REPRESENTS MINIMUM TOOLS REQUIRED
, 50 KIP TAPER TIE WEIGHT: 5.5 Lbs, 2 3/4" SPEED BOLT T
2 210 36262 | 12' M/F OUTSIDE CORNER| 86 50K TAPER TIE FLEX-FORM WALL THICKNESS CHART . e FOR ACSEMBLY, STHER HIND AND POWER TOOLS
2 la [ 1/4" 50K CAST COMMON TO CONSTRUCTION ARE NORMALLY NECESSARY.

’ LENGTH MIN. WALL | MAX. WALL CONTOUR NUT
). PaNl " TAPER TIE THICKNESS THICKNESS P.C. 31524
Py HAMMERING CAP 35! 2 3/4" 4 3/4" WEIGHT: 1.5 Lbs, F

- - P'C 3]377 45" |2 3/4" 24 3/4"
WE|GHT= |'25 Lb . 1 1 1 FORMTECH
TYPICAL M/F OUTSIDE CORNER i % 22 3/4 34 3/4 50 KIP SHE-BOLT concrete forms, inc.
- 48575 Downing Street
TYPICAL M/F FILLER ANGLE 50 KIP TAPER TIE Wixom, MI 48393

800.876.4857 | info@formtechinc.com ©2005, Symons Corporation
. Printed in U.S.A.
formtechinc.com Product Code No. 99832



http://www.formtechinc.com

Give us a call at any of our branch locations, email us at info@formtechinc.com, or click on
formtechinc.com/quote to get a quote. Our experienced Form Tech representatives will answer your
questions, and help you get your project started with some of the best concrete forming, shoring,
and accessory products in the industry, backed by a professional and detail-oriented staff.

Charleston, SC
7377 Peppermill Lane
North Charleston,

- SC 29418

s 843.628.3434

Charleston, WV

161 Industrial Road

St. Albans,

e WV 25177
304.722.6804

Charlotte, NC

= 1000 Thomasboro Road
8 Charlotte,

NC 28208

% 704.395.9910

Cleveland, OH

#% 20801 Miles Road
North Randall,

4 OH 44128
216.692.0497

Detroit, M|

Corporate Headquarters
975 Ladd Road

Walled Lake,

MI 48390

Branch: 248.344.8260
Corporate: 248.344.8265

Pittsburgh, PA
2850-A Kramer Road

Gibsonia,

PA 15044

412.331.4500

Raleigh, NC
115 Peffinder Lane
¥ Raleigh,

g NC 27603

§ 919.833.0911

FORMTECH

concrete forms, inc.

TRUSTED FORMWORK & ACCESSORY SPECIALISTS
800-876-4857 | info@formtechinc.com | formtechinc.com


https://www.formtechinc.com/get-a-quote.html

	Flex-Form-ID-Chart
	FT-brochures-default-back-page-rev. 7-8-21

